£

¥ ¥ £
e
3

$ 6 P K

# .
wk
F R
33,
m\»
'z
I
33

OIMELEFREZ P B(22L arFFREFFL2FE3)
Plpx

— N LPE A 113 £ 3

33 TP

CXEFERG LK LE 113237 13 P

.z\aﬁﬁz#ﬂﬁﬁﬁ 113 # 3% 18 p

m\aﬁﬁs#’#b% *E(F5 1R s EH PR 370 55)

I ~2FEPLH 1 113&# 3% 25 P

A ABRAIEHRIIIZELY 1 P2 118 #1272 31 P E(RREFRRET R
%@X;&’)

B P ﬂ‘%‘@#p‘fﬁfé#— IeERRRA R B B EBFTR GHPE
J®* > pELER %Fifﬁﬂé\ﬁ,,hﬁikﬂ’@ﬁ ThdELEPTER)-

mEEe |RPEHAALHALEFT S

ERE S

ARRERG | =

FFRIBTZ ,
pegry 1z | A1

TN

Flergn | P F AL 44280 2 £ L 37800 A(F K R RLEFRTEHETLH)

=

1.%c7 3037 2 Wp ~’\§|‘4L§@,g$#gp&g,ﬁlg,@%o
2.5 243k T ST B | TEAg B A d ~ ‘N: N @ﬁﬁ‘bé % o
g 3FERZ ALER ~F) SRR ,4)3

: ARG L
4.5 85 g dR - 2 J%]ﬁlx?#%ﬁl office (T% x 4% & ¥ 5 4 ﬁ"b iF o
5.1 (7 p113#42 1p 3 113#127% 31p ok (i B F g é$i<%ﬁ)
1,f;54«%ﬁ.ﬁ |2 P22 & B 507 AR EH Tw?‘*&"?'}%?m KREWES mHK:

1 1 CERBRERP S R RV RS RY R R T RS F?-f%r's v%

TR B R ERERA ML
2.8 & TR PEE R o

M5 :£(30%)
WL %R % (70%)

N
B3 LE 4R 1 7 Mk R (20%)

2. FF EE IR 2 i 3R ] 1T (50%)

| i &% A #cB kBB B B o

EEFR 2 BB RS E AL T0A R0 B RE S H AL T0N%F 5 5 s o

FEASH B | T RA S R A 3T05L( R £ ¢ R R Err )

s

13F 4R % = *’%ﬁiﬂéﬁii\”ﬁﬁﬁﬁ FR&1 TR EipME Wvﬁ
Ao BHIEP AT PR TIEME L3113 &30 7 pE(UERLG
ﬁmﬂ)~4%4%w%«ﬁ%nﬁﬁ%%PBW%»%%%iﬂﬁﬁiﬁ%%%+ﬂ
i< > ;:ﬁiiuh% f—-*ﬂ » A VM A EwR L —F,«_}l .
2FFRFECIMB2ALERBFA TR AP F AR OFIE &L id B
PELE 7 e &5 o

3AcF APM G K Gt FITE S R KR AR H 2 B 04-8523101 431 § ] 42




